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Note: You have four choices for each objective type question as A, B, C and D. The choice -q/‘::u“'.'r’,’;_-.wr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in Zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank., No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) _____isthe smallest quantity. _q_J:g’a,.,/Jiﬁ“_ (1)
(A) 0.01¢ (B) 2mg (C) 100mg ) (D) 5000ng

(2) Conversion of ms™! to Kmh™" is equal to:- e Ul J £ Kmh'§ ms™! (2)
(A) 0.36 Kmh™! (B) 0.036Kmh™"  (C) 36 Kmh™! (D) 3.6 Kmh™!

(3) The unit of Momentum is:- -:‘_.:.-';j(f'"r (3)
(A) Nm (B) Kgms™ (C) Ns (D) Ns~!

(4) Newton's First Law of Motion is valid only in the absence of-- ..‘c.bw"Ubi&f:‘;;f)!?éécfﬁuiuiﬁr;&f @
(A) Force J,-;’ (B) Net force w;’.:,-j . (C) Friction ‘f;’ D) Momentum !f?r

() Aforce of 10N is making an angle of el Fig iy - el 30° iv&%ngngﬁJ (%) 10N (5)

309 with the horizontal-axis. Its horizontal component will be:-
(A) 4N (B) SN (C) 7N ) (E)) 87N
(6) Thevalueof £ ata height of one earth's radius above the & UrgbiinL ;Lyf;c.d!jé’;,f Je
surface of the earth, is:-

.
rd

(A) Convection current /ooy IR Crndimtinn 47 imv o s &, T

W 2 ) 3¢ © 72 0 1g

(7) Ifthe velocity of a body becomes double, then its Kinetic energy:- ...E&)f-@J(JJ‘;E_%?ﬁ{}CJ&UJd:ﬂU)% (7)
(A) Remains the same g_g’u-’.ﬁf’}f (B) Become double ;.Jlgnl;@
(C) Become four times .f..dtpfb@ (D) Become half ‘4Jl¢oaxgﬁf

(8) Rate of doing work is called:- LN @
(A) Power (B) Torque /¢ (C) Velocity (1 (D) Momentum #

(9) The approximate length of a glass tube to construct a -é.gdnfirfoUJ.,::’&%%Z.LW{%K ul, (9)

water barometer should be:- ‘

(A) 0.5m B) 11m (C) 2.5m (D) 1m

(10) The number of ways by which transfer of heat takes place - -{.:w"fuﬁ,b'if)ém%'ﬁ?i (10)
(A) 3 (8) 2 ©) 5 (D) 4

(11) The value of specific heat of dry soil is about- ol dfar(d s m)
(A) 4200JKg™'k ! (B) 810JKg™'k~!
(C) 700JKg™'k ! (D) 3000JKg~'k )

(12) Land and sea breezes take place due to:- -g.;]ﬁdl:c..pgj/ J f»[’-'::f;jxff J (12)
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NOTE: - Write same question number _q.bz:uﬁq_{.glrﬁg; bu/ﬁmsl/:ﬂlﬂj?s{dfdlﬁ -
and its part number on answer book, as given in the question paper.
SECTION-l sl

2. Attempt any five parts. 10=2x5 - fer Lzl 8 240
()  Whatis meant by Derived Quantities? el Us 7 (i)
(i)  Whatis meant by Scientific Notation? S ST ()
iii) Define Zero Error and Zero Correction. ..g‘;'::-..é'f?d’g%);_/) sl aslsrd (iii)
(iv) Differentiate between Rest and Motion. -g£ 5 J:J}uﬂjf.algfg.r (iv)
(v) Define Translatory Motion and Rotatory Motion. -g.’-: - /"'d/ -':*d s sl o 2 (v)
(viy  Define Force and write its formula. - 4%}")5({)"/"55 - /“JJ;;’ (vi)
(vii)  State Newton's Third Law of Motion and give an example. -2 Gl 96~ KSrbese (Vi)
(viii) Define Momentum and write its unit in S.1. Lkt S ANE S il
3. Attempt any five parts. 10=2x5 E fezlizigie 3 340y
(i) What is the difference between Like and Unlike Parallel Forces? ??_&)guc yJ}L)Jv N O )
(i)  Why the height of vehicles is kept as low as possible? ‘-‘e‘:.dh_vgf:u::.( f;&f Jlfs'nfuzf’f (ii)
(i)  State Newton's Law of Gravitation. _ENIIL G S L (i)
(iv)  Why does the value of "g" vary from place to place? fe- J:ru:d/ ﬁ;ux‘iﬁ&f J "g" (iv)
(v) What is meant by Gravitational field strength? ?c‘,.:lfg'.:, ~'l.bzfi!:‘ ﬁdgf (v)
(viy  Define Energy. Give types of Mechanical Energy. -’@.lzr".JFJd)* < _g,:’_g}JJﬂ (vi
(vij)  Define Potential Energy and write its formula. Uik imgE s 53 F (i)
(g=10ms2) P @Sl LWIESaS 4m LSS 50 (i)

(vii) A body of mass 50 kg is raised to a height of 4 m. What is its Potential Energy? (g= 10ms'2)

4. Attempt any five parts. 10=2x5 ez linbie 8 4ty

()  State Archimedes Principle. _ES Sl )

(i)  The mass of 200 cm® of stone is 500 g. EEBE ¢ 500 gUIEAL pdy 200cm® LT (i)
Find its density. '

(iii) What is meant by Young's Modulus? -g.f./fumug}us’w ?4.;!/1[;_ u’iiry‘?’— (iii)
Write down its mathematical formula.

(iv)  How does heating, affect the motion of molecules of a gas? S b I K.;-.;i;{u:ﬂ_ﬁzgh z:.uff s " (i)

(v)  What is meant by Volumetric Thermal Expansion? ~ZE PSS W6 Sl S Sieds W)
Write its formula also.

(vi)  Write the uses of Conductors and Non-conductors. —sf‘;{,;-'a WAL P }Q-f (vi)

(vi)  Write two consequences of Radiation. - .:.l}fm&u?ldéx (vii)

(viii) What is meant by Global Worming? What is its main cause? ?:l:.g.gsdi:JJi ‘e :I/L_/c.....ézl,‘j,f (viii)

SECTION-II 5.
NOTE: - Attempt any two questions. 18=9x2 ..é./fal,lﬁéawnsa.df oy

5(A) State and explain the Law of Conservation of 4 & obre S S U I I6 P L oy ()5
momentum with the help of spheres example.
P . i o7 . " . d
"‘J?_Lo..ﬁfﬂo):)pc_.np); ..i 3s /JU:?LE(L?AV:/A _-‘dgé-r_}/"‘dl{:ﬂnfc;ﬁ’d/ 30 ms'1 !U'-J:-g (-.-)
(B) A tennis ball is hit vertically upward with a velocity of 30ms™". 5 o6l I TRyl
It takes 3 s to reach the highest point. Calculate the maximum height reached by the ball.
How long it will take to return to ground?

6.(A) Define Equilibrium. Explain states of equilibrium. 4 ySeobsSutelEIsE) -y /S PSEASEL ()-8
S 50 mst UG o B e ppetasy -2 5. SIS 200N 43S vLLU i F 20 ()
(B) A force of 200 N acts on a body of mass 20 kg. The force 5 Se SISy S

accelerates the body from rest until it attains a velocity of 50 ms1. Through what distance the force acts?
7(A)  Define Evaporation. Write factors which affectit. 4 (3L SSreiite vl SIS Sy (N7
5 5 _r)?;*:,r;}od@[.dkur g tnlsb P MUY ~e- 10 om il .*ﬁ'fqéu’-h,{w;ﬂ,gr (=)
By A weaden eube of sides 10 cm each has been dipped completely in water. Calculate the up thrust
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Note: You have four choices for each objective type question as A, B, C and D. The choice -../_/C:J",qamr
which you think is correct, fill that bubble in front of that question humber. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resulit in zero mark in that question. Attempt as
many questions as given in objective type question Paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) In Isolated system, the momentum after collision of two bodies is - -:(%KMLI;L! bui(}" WeT )
(A Increased ¢t (B) Constant ¢} (C) Dectease o (D) Zero b

(2) The number of forces that can be added by head to tail rule:- W B i bl @)
(A) 2 (B) 3 (C) 4 (D) Any number A8

(3) Thevalugof '¢" at moonis:- ,g_.;-.,fJ ‘g ke (3)
(A) 9.8ms™> (B) 10ms™2 (C) 1.7ms™2 (D) 1.6ms™

(4) In Einsteins-Mass-Energy equation, "C" is the:- -93/,;@ ke J;lau&)i-w.(}’cftﬁ (4)
(A) Speed of sound 4§17 (B) Speed of Earth ixet
(C) Speed of light (5% (D) Speed of electron {24

(5) The formula of Power is:- < UyikEs,  (5)
(A) P =wi (B)piji ) P =my D) Pama

(6) InS.Isystem, the unit of stress is:- -;.&gb’djfu!(“/ {S‘I)JUI (6)
(A) Am! (B) Nm2 (C) Ns (D) Nm )

(7) The thermometer is use to measure:- -g@gﬁb»"«n,i&./ﬂ%} (7)
(A) Temperature ofbody wlZonk”  (B)Force 4 (CLengh 1/ (D) Time <

(8) In solids, heat s transferred by:- e3P ()
(A) Radiation (5%, (B) Conduction %" (C) Convection 55" (D) Absorption oz

(9) In gases, heat is mainly transferred by:- -g.,‘&g)bfmfidb?ﬁlu.‘urf (9)
(A) Molecular colision 3¢, ~ (B) Conducion & () Convecton 25 (D) Radiation 512

(10) InS.I system, the unit of mass is:- ‘{_..*;gKJLJ:{V SI(10)
(A) Second 4£ (B) Meter ~ (C) Kilogram ¥ (D) Newton (% .

(1) The motion of a body in straight line is:- -enjtkfnvffufﬁ? Jv‘ufﬁu’( (1)
(A) Circular motion Jr‘fr (B) Random motion Jfrif;, _
(C) Linear motion Jr/’ (D) Translatory motion Jm o

(12) InS.I system, the unit of Momentum is- sl (1)
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NOTE: - Write same question number - (s g Jwd 2t Lu/bamA wmn 3681z o
and its part number on answer book, as given in the question paper.

SECTION-| (Ji.»

2. Attempt any five parts. 10=2x5 o fe 2l nbie & 2480
(i)  Why "Screw Gauge" is considered more-useful e bl UL LKL E (ZI/‘JJ ,4-'-"( v (i)
than "Vernier Calliper"?
(ii) What is meant by Zero Error and Zero Correction? q_:r/u:.-.. u'(; oW ,/lm (ii)
(i)~ Write the method to find least count of screw gauge. oy e Jodnssik .u-Jb" 5 i)
(iv)  Why vector quantities can not be added and subtracted like “dyru"’u/ T )Juuw){;’ /’»ld’ Juuw/ ’ (iv)
scalar quantities?
(v) Define Positive and Negative Acceleration. ,uf_,v/’o;,f’)’g'eg Vg 3 (v)
(vi) State the Law of Conservation of Momentum. g':ULqu‘l: b’wu/{_r"’;’ (vi)’
(vii)  Why do the passengers move out ward when a bus ‘?diZ.-k-ﬂ?ux’/_i):ﬁrwvwwiq,d(mu".{.,» (vii)
takes a turn?
(viii)  State Newton's Second Law of Motion and write its equation. -ut’g..,!:L»JJbanulau:'G‘i/»%’u’rKJr (wls)
3. Attempt any five parts. 10=2x5 -éxj_,w!_vsac,df 2340
(i) What is meant by Resolution of Forces? "f.; /Lfa. /»’....* IJH;N 0]
(i)  Differentiate between Torque and Couple. g:fuw/dd’( A (i)
(i)  For what purpose artificial satellites have been sent into space? e I:‘tgtf.‘.‘fuﬁ.‘u-rfuu"L-Jr”_iﬁWf (iii} -
(iv) If R isdoubled then what will A ( g= @;ﬁ S eidevtadd 8" FbpS iy R4 v
be change in "g" ( where g =—5% ) K

R

(v)  What is the distance of geostationary satellite from ?»T_.(jj’é{g{dlmslg&c)f}:ﬂq;{dﬂ:Ljrc.u:}q‘-’ Y 2 (v)
earth and what is its speed with respect to earth?

(vi)  Define "Work". What s its S unit? e Uy SIEUT g A5 (vi)
(vii)  What are Solar Cells and write their use. S L sl g {vii})
(viii)  Define Watt and write down names of its larger units. -y /ftl.fs‘c.fa_uwé _.v/".,f..:*: (viii)
4. Attempt any five parts. 10=2x5 .,éff._«u:’é’.!ilét:;.us 44y

(i) The mass of 200 cm” volume of a stone is 500 g . -{,’.};‘-"U’E}Ju‘f -« 500g JL&’}'[.(::‘I; 200cm ..f (i)
Find its density.

(i) Define Pressure and write its formula. _ﬂnbs’gwé - /70/ Y (ii)
(i)  State Archimedes Principle. ey QLJMKJMJ! (iii)
(iv) Define latent heat of Fusion and write its formula. qqu f.rbKJi.u!e,{ - ,)'J...-;IJJ;J % tlet (iv)
(v) Convert 100? F into the temperature on celsius scale. _J/J.ar.,tfd-'cu"’]";’}‘ / 100° F fd";._« O (v)
(vi)  Why are metals good conductor of heat? *‘u"dnu/ 5 J;f’ IJ... J})«‘*‘ (vi)
(vii)  What is the difference between Conduction and Convection? .:.J f‘l.-.,fv -r.rs‘_, o (vii)
(viii)  Define Thermal Conductivity. I E WA i)
SECTION-II (4>
NOTE: - Attempt any two questions. 18=9x2 S ezl e 3 w2
5.(A) Derived the Second Equation of Motion with the 4 -yt S e Tasad i Ftiy (N5

help of speed-time graph?
5 "dinHJJﬂJw;’d""d/’JQ.d:d-bf.:_wg Ims- Jr_./bf_.fu 50 cm :'?)LJL(F);{ 05 (L)
(B) How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of radius 50 cm
with a speed 3ms™!
6.(A) Determine a force from its perpendicular components. 4 - JF!"’J;?‘:_.MJUM}MSJ (91)-6
Amanpuls 5 -ZPu St ET S e FF som £ 60s i 300N LGLPig (L)
(B) a block with a force of 300 N through 50 min 60 s. Find the power used by him to pull the block.
4 V=Vy(l - BAT) Syt iy lu fSsud dinteds (N7
7.(A)  Define volume thermal expansion and prove that | = V(1 + B AT')
5 e 31l s08 125000 N 4 7 -.c.t‘/'J'JLu"Q 05U (barge) 1Az 8m i 40m LT (L)
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